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101|R#A7 L 427 105 322| Keg |EE 1,620 648| L 2,160 162
102|&JE 7= L 1,912 1912 Kg S - BiE 3,791 579
111|&EEF £ 1,290 51| 1,239 Kg |[EBREEB 1,188 ERE - &4 1,728 318
113|RAV S 65 3 62| Kg |EE 1,080 540| & 3,240 720
114|B5EFE 330 330| Kg e 2,538 324
15[ 1= 2 2| Keg FfE 4,320 2,700
117[1E 739 218 521| Kg |&E 2,700 54| 4,860 108
21| bl E 36 15 21| Kg |EE 1,188 648| & 864 648
134[#= = 490 295 195| Kg |EE 2,100 1,600| & 2,484 1,728
137|&FE5 < 1 1 Kg K5 4,266
140(5 I 48 48| Kg FE 118,800 2,809
147|EZ O 95 95| Kg |EfE 16,739 15,1192 - £k 17,280 6,000
158|EIEA A LS 496 82 414 Kg |E 1,944 1,080 | E1E 1,944 540
201{Lvb L 300 300| Kg T 300
203|/hd L 165 165 Kg R 486 108
206| = 1F 645 645| Kg =5 713 346
207| = AE 4 4| Kg il 1,080
208| Mo % 264 264 Kg =15 1,404 590
210|1F ALy 152 84 68| Kg |RI& 7,290 1,890 £ 15 6,480 2,160
212|&5E.3Y 146 146 Kg S - BIE 2,160 1,404
222|002 480 480| Kg T 360 234
251|< £ <3 554 237 317| Kg |dmE 2,873 1,804|F%5 4,147 3,996
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252|LWAEXECA 305 305 Kg |EA 2,927 1,512

254|EDT2ELCAH 485 485 Kg 2P 1,998 1,220
303[A 27z 8 8] Kg FE 945 864
305|xAah>0b 6 6] Kg =) 4,860

315|7: B9 6 56 18 38| Kg |24 2,160 1,350| = I 3,240 3,132
319[xHh v 168 168] Kg =i - BE 2,484 1,100
332|113 WA =EF 228 228 Kg Bl = 2,808 1,944
351(4EH 14 5 9l Kg |&ES 5,400 w5 10,260 4,644
35411FxE<Y 30 30 Kg FIE 1,728 1,404
355(mp Y 175 175 Kg A/ - P E 1,620 600
356(L L& 35 35| Kg JtimE 3,856 1,080
357|7RE 25 25 Kg FE 1,782 648
358|KE 15 5 10 Kg [EHmM 1,404 FAN 1,728

401|H W 98 98 Kg A0 1,944 1,512
4025 E 35 35 Kg FAN 5,778 4,644
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512| A& AL 531 531| Kg b 1,500 896
523| A EARAT 2 O 521 521| Kg =] 3,492 473
54| ARE & 2V 41 41| Kg Bh 1,620 1,350
558|# 44 44| Kg b 1,242 756
560|472 374 374| Kg Bh 3,275 1,650
566|458 < 10 10| Kg b 900
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70110 BA 406 287 119] Kg [|EE 4,156 1,592|&E 3,240 1,620
71019 2 ®HA0F 4 4 Kg Ko 1,305
BlBEFALANIN 44 441 Kg s 987 756
755(Fd L 18 18 Kg B 710
56| £ 9 17 17 Kg 3 1,588 1,008
7611 b BHAEL 18 18 Kg & 2,893
801|BHL =T 62 62| Kg ¥ - A 1,950 1,458
802|111 10 10 Kg blo ] 1,242
805 = 1E 42 42  Kg bF 972 783
810|BAKTF 83 831 Kg JbiF 3,348 1,944
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